Conditional Design

MT EC

Stephanie Skarica
w1618332
Authorship and Interaction 5GPDS001W
University of Westminster Media Art Design Department



MT

EC

Multiplavyer Game

Z Player
1 Dice
& Bars

Inter face

B Hﬂice

The
yellouw color

\\\\\\ —————%}Bar

showus who s
fturn it is

/

Score

T

Player 1

o0

Player 2




EEEEE



Each bar starts
Ffrom the the
alignment point.

N\






Player 1 staris the game by clicking on the dice. Each

dice has it 's defined bar.

If plaver 1 rolls [:j : The bar goes 1 factor horizontal
to the right. MNow it’'s the second plavers turn. Hhen
he rolls [:] » it means the dice goes tTwo fTactors
diagonal to the right.Everuy bar will be placed at the
end of the first bar played by the previous player. Hhen
[:] is played by player 2, the bar will be placed at
the end of the second bar & factors up wvertical.MNMow
if plavuer 1 rolls the dice and it showus [:j, the bar
will be 4 factors long and goes diagonal to the left.
As already mentioned, this bar will be placed at the
end of the previous bar played by a plaver. This means
that the end point of a bar is the alignment point.Mown
plaver 2 clicks on the dice and if is shown, the
bar goes 53 factors long horizontal to the left. Hhen
is played, the bar game puts the &6 factors long

bar wvertical dowun.



This is howm it should look like if the dices ar throwon

that wmay the e=ample showus



This is howm it should look like if a player rolls a

[:] aftermards.



This is howm it should look like if a plauer rolls
a [::y aftermards. This process made a shape, 1t
NT ECT ' The player who made this turn gets a point
for each intersection.

In this case 1 point = 1 intersection.



Mow, the game should look like this. Through the

intersection a shape wmas being formed. Player 1 got

the point and this will be shown in an orange color

because the last bar placed has the orange color.

Player 1 1: 0 Player 2




Every bar mhich lies on the shape dissappears immediately
after the intersection. The plavyer gets a point fTor

creating the shape.

Player 1 1: 0 Player 2




Mo it's the player Z2°'s turn which will appear in

yellon color.

Player 1 1: 0 Player 2




After the intersection wmas made,

plavyer Z will be

clicking on the dice and the player is now allowed

o place the dice AT ONME EMND of any bar. It is MWOT
allowed to place the bar on a bar.A was played.
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If plavyer 2 wmas supposed to place the bar at the end
of the yellouw bar it would look like this:

A Player 2

Flager 1 1




At this time +the ne=t round has started. Directly
only after a shape wmas created, the plaver is free fo
put the dice somewmhere he's allowmed to. Now, Player
1 has to relu on the dice and all following bars are

automatically placed by the computer.

Flager 1 1: 0 Player 2




The game continues. But if a player rolls a dice mhich
gets on the dice or e=ceeds the display fTormat, a
HD.' wmill be immediately shown and the ne=t plavyer

can click on the dice to get another number wmhich will

continue the game.

Player 1 1: Player 2




The game continues. ..
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The game continues. ..

Player 1 1: 0 Player 2




The game continues. ..
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The game continues. ..

Player 1 got the poini!?

Fra Player 2




The game continues. ..

Player 1 got the poini!?

Fra Player 2
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